8-26-2020 Class Notes August 26, 2020

LT: | can solve multi-step equations.

SC: | can combine like terms, use the distributive property, use inverse

operations to isolate a variable.
Mr. Gadget’s car broke down on the
Acme Towing charged $30
plus $3 per mile to tow the car. If

Mr. Gadget paid $174, how far was
the car towed?
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LT: | can solve multi-step equations.

SC: | can combine like terms, use the distributive property, use inverse

operations to isolate a variable.

go over 3.16 @

Solving word problems 1
3

Solving word problems 2
3
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https://classroom.google.com/u/0/w/MTQyODk3ODIxNjAw/t/all
https://classroom.google.com/u/0/w/MTQyODk3ODIxNjAw/t/all
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Complete worksheet 3.14

Work on IXLs
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